

8.1 - 8.3 Working with Exponents (V1)

8.1) Simplify. Your answer should contain only positive exponents.

1) $-3m \cdot -2m^2$

$-3 \cdot -2 m^{1+2} =$
 $6m^3$

3) $-3x^3y^4 \cdot -2x^4y^3$

$-3 \cdot -2 x^{3+4} y^{3+4} =$
 $6x^7y^7$

5) $2x^2y^4 \cdot 4y$

$2 \cdot 4 x^2 y^{4+1} =$
 $8x^2y^5$

7) $3u^3v^2 \cdot 3u$

$3 \cdot 3 u^{3+1} v^2 =$
 $9u^4v^2$

9) $-4b^4 \cdot a^3b^3 \cdot -3a^3b^3$

$-4 \cdot -3 a^{3+3} b^{4+3+3} =$
 $12a^6b^{10}$

11) $4x \cdot 4x^2y^3$

$4 \cdot 4 x^{1+2} y^3 =$
 $16x^3y^3$

2) $-x^4y^3 \cdot -x^4y^3$

$-1 \cdot -1 x^{4+4} y^{3+3} =$
 x^8y^6

4) $4x^2y^2 \cdot -y^3 \cdot -x^2y^2$

$4 \cdot -1 \cdot -1 x^{2+2} y^{2+3+2} =$
 $4x^4y^7$

6) $-mn^2 \cdot -3n^3$

$-1 \cdot -3 m n^{2+3} =$
 $3mN^5$

8) $-4x^4 \cdot -2y^2$

$-4 \cdot -2 x^4 y^2 =$
 $8x^4y^2$

10) $x^3y^3 \cdot -4x^2y^4 \cdot 3x^2y^2$

$-4 \cdot 3 x^{3+2+2} y^{3+4+2} =$
 $-12x^7y^9$

12) $2m^3n^3 \cdot 3nm^4$

$2 \cdot 3 m^{3+4} n^{3+1} =$
 $6m^7n^4$

TIPS

- ① TREAT NUMBERS Like Numbers. Give simplified improper fractions
- ② For exponents show how you +, -, ÷
- ③ ORDER VARIABLES ABC...

8.2) Simplify. Leave answers with improper fractions using only positive exponents.

$$13) \frac{4k^3}{-2k} = -2k^{3-1} = \boxed{-2k^2}$$

$$14) \frac{4x^{-1}}{-4x^2} = -1x^{-1-2} = -1x^{-1+2} = -1x^1 = \boxed{-x} \leftarrow \text{simplify}$$

$$15) \frac{b^{-1}}{-4b} = \frac{1}{-4} b^{-1-1} = \frac{b^{-2}}{-4} = \boxed{\frac{-1}{4b^2}}$$

$$16) \frac{x^3}{4x^3} = \frac{-1}{4} x^{3-3} = \frac{-1x^0}{4} = \frac{-1 \cdot 1}{4} = \boxed{\frac{-1}{4}}$$

$$17) \frac{-4x^4}{x^4} = -4x^{4-4} = \boxed{-4x^0}$$

$$18) \frac{-3v^4}{-2v} = \frac{3v^{4-1}}{2} = \boxed{\frac{3v^3}{2}}$$

$$19) \frac{n^2}{3n^3} = \frac{1}{3} n^{2-3} = \frac{n^{-1}}{3} = \boxed{\frac{1}{3n}}$$

$$20) \frac{2v^4}{v^3} = 2v^{4-3} = \boxed{2v^1}$$

$$21) \frac{-4x^2}{-3x^4} = \frac{4x^{2-4}}{3} = \frac{4x^{-2}}{3} = \boxed{\frac{4}{3x^2}}$$

$$22) \frac{2x^{-4}}{x} = 2x^{-4-1} = \frac{2x^{-5}}{1} = \boxed{\frac{2}{x^5}}$$

$$23) \frac{2x^4}{x^4} = 2x^{4-4} = 2x^0 = 2 \cdot 1 = \boxed{2}$$

$$24) \frac{-2n^4}{-3n^2} = \frac{2n^{4-2}}{3} = \boxed{\frac{2n^2}{3}}$$